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R A 55K B 40 Bk A HEELE P101. 5K B HERIE P102 $iikit NVR A RE V101 (G7UEED A
WA, REYEEENB R R A R101 BT /L, [RLFTRR IR C, e AT C Hirik%E P103 M M #5
TN AT HRRIPEFEAGREE (30°C), (ERMAIMGM B, MM R101 SR 922 2050t S Ak
BEATIN# . BIR IR BN SRBCHRGE R, ROBEEE R101 SR A sUKA A, K S RECGE IR REBR, 445 B
PR R, Gl R R S e A R SR E A5 BRI A R SRR R R A G LE
R, R RS IR BERUR, 1EA RN R L iR 2 T, 3 v (SO 0 s 25 3R AR F X
W TE S L% T 15 B — BRIV A0, 22 S I P8 B 73 v s B 2z e, BN F, A AL A7) C iRk b
BRI, AR SR

R NiEE R10L JEHSH VA & A 77 0 D 220 E, AL C. R ER A R B J5E B, AT H
CERE A, 7RIS 38 T U E N HE V102, KHEA A YY) (D+E+C+A+B) il B ERL A 4 Bdest. N
FEE V102 THESR BB AW (FREL AL b D+E+C+B) AU, ESEHEAABERS E102 574 HIKHHTHA
B, R IR A NS B V103, IR PL06 FR AN IR A HE VI0L TR . INZEHE V102 I
MR G AR (D+E+CH+A+B) L4k IE P105 N, X3 FilEsr & L7, BHATHRARS], Loy es =i D.

SN e B R AR T R A BRI 32.292th; JEURL B BRI E N 12.384th; LT C

Kt N 4.176th; HEHRA76e: 77 D i K== 47.35t/h,

(1) ITZ&H

K1 LEBHE

TS8R

5 TZUH ;WA TZ3%
1 TR AT V101 Wik % 30~60
2 SN A R101 VAL % 30~60
3 TN 7% V102 L % 30~60
4 A EHE V103 L % 30~60
5 S NA% R101 i C 80~160
6 TN 7% V102 J5 C 20~160
7 A EHE V103 J5E C 20~50
8 A% R101 K5 kPa 100~150
9 N ZEHE V102 [E 1y kPa 20~150
10 ARG D & % >80
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(2) BEEE
xR 2-B R BIER
BEAHTER

Fs | A5 B BESH
Z—ﬂfﬁ: jﬁ\ 5’%%, lj‘]?% lm, %—E 3m;

1 R101 SN 5% BYENF: AL B. C. D, E
Witk 7. 200kPa, WitHEE: 200°C;
B iR MR 0.6m, E=E: 3m; EREE:

2 V101 TR AT
Witk 7. 120kPa, WitiEE: 100°C;
MR 73 NZ0.8m, =EE: 3m;

3 V102 [N 7% e BAENF: AL B. C. D E
Wit S (Em/sif): 150kPa/20kPa; #itim/E: 200°C;
B Bl A 0.5m, KE: 2m;

4 V103 Bk BEN R : A, /DE B+C+D+E;
WitE /1. 150kPa, &itHiRE: 150°C;
e FE L B
WiE: 0.4, KEE: 3m, #HHJAFH: 100m?;

5 E102 VA ko BAEAN . 2. Ay DB B+CH+D+E, 2. (EIRAHIK,
it s F1: &L 150kPa, 55f%: 250kPa;
WitiEE: & 150°C, TfE: 100°7C;
BEN: JRE A 72 30m;

6 P101 A kIR
HOJEJ7: 313kPa; #EfEIRE: 20~507C;
PR JEE B #F%: 25m;

7 P102 B %%t %
IO A7 307kPa; #AEEE: 20~50°C;
BAEN L AT C; 2 20m;

8 P103 C $nik R
HIOES: 293kPa; #RERE: 20~C;

9 P104 HEH BAEN R A, /DE BHCHD+E; 1A E: 5000m3/h;
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BAE B P2 DIREY: 72 20m;

WOy 227kPa; #EERE: 70~75C;

10 P105 D ik g

(3) PEdE
MEEIER
s AR 4FE& g/mol R kg/m?3 AT FEALEE S J/mol
1 A 36 720 105 7513
2 B 24 840 120 14369
3 C 72 980 125 10817
4 D 96 910 130 15356
5 E 60 880 135 12608
6 F 108 720 132 34562
7 H20 18 1000 100 44848
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IIHOERR,  HB AT .
2) TRIERMNAZAeFE B PRWIGIREE 2 20°C, FEIMAZIEYRHTRBIE A& 1 [ MR
FEo [, SR N AL S B SRR SN, 7 S SR ATINFAZRIR, IR R R AR KRR,
SN IR LRSS B TR R R R BRI, R RN R
3) UbAh, JTEFBHESERI RN RN ERHE S (A A KIEE, 50 R RELE M ARIE R BE 1M
IR, AU BRI R,
N T R IFE R L, Ry HASFESOSEAE T BSON AR £ S RIS FTAREH ) D
B B-mE I RN A AL, UtS %

1. RSB OBR-EREC, BT/ 0*st, BRI S LG P 0 1B s e R AN,
X K B2 55 31 S B EAT BRI, A0SR IRZRBEIR B IR )

(1) [ B 55 A s WAL HILE 50%, AL B C #EHL &= LU Fgs Bl 24 H17E 9:3:1( FA=7.989kg/s FB=2.65kg/s,
FC=0.883kg/s ).
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(2) RN WAL WIEFIE 50% 30%. 70%, A. B. C WkHAE L EHIZE R B HIE 9:3:1

( FA=7.989kg/s FB=2.65kg/s, FC=0.883kg/s).
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(3) MM WAIEHITE 50%, A\ By C kla i L #HI7E 9:3:1, Mol HI7E 11.479%g/s.
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2. RSO CRRFNZED K4S D RESH-EEME (BH-EE/C, -4 D JRESHO
(D) RPBLGEAT: ALIEHITE 50%, A B C Pk L Fgs Rl i3I 7E 9:3:1 (. FA=7.989kg/s FB=2.65kg/s,

FC=0.883kg/s)-
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(2) A AL MAEITE 50% 30%- 70%, A+ B. C Wk & L 2
( FA=7.989kg/s FB=2.65kg/s, FC=0.883kg/s).
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